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TaskA = (actl->act2->TaskA).

TaskB = (act3->TaskB).
gooogooooooboobbbbboooooooooa

E <
gooooooooooboo

Interface Apr.2006 KEYWORD—#z28&it, LTsA, RTOS, WE#i# 165



| | System2=(RTOS| | Tasks) @{TaskAAct, TaskBAct}.
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// 00000000000
Apl=(actl->act2->Apl).
Ap2=(actl->act3->Ap2).
| | App= (Ap1| |Ap2) .
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actl
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//000000000000000¢C
property AppSafe=Q0,
Q0= (actl->Q1)
Q1= (act3->Q2
|act2->Q3),
Q2= (act2->Q0)
Q3= (act3->Q0) .

03 OoOoooooooOooOOOOODOODOODOO

set TaskAAct2={actl,act2,act2b,w.act3}

set TaskBAct2={w.actl,act3,act3b}
TaskA2=(actl->w.actl->act2->aio->act2b->w.act3->TaskA2) .
TaskB2=(w.actl->act3->bio->act3b->w.act3->TaskB2) .

| | Tasks2=(TaskA2| | TaskB2) .

RTOS=Rr,//1:A 2:B
Ww=({w.act3,r1}->Rw|{w.actl,r2}->WR),
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Rw= ({wl,aio}->Ww|{w.actl,r2}->Rr|TaskAAct2->Rw),

WR= ({w.act3,rl}->Rr|{w2,bio}->Ww|TaskBAct2->WR), act3
Rr=({wl,aio}->WR|w2->Rw| {TaskAAct2,w.actl}->Rr). \
| | Systemé=(RTOS | | Tasks2 | | AppSafe) @{TaskAAct2, TaskBAct2,aio, bio}.

| | System7=(RTOS | | Tasks2 | |AppSafe)@{actl,act2,act3}.

actl W.actl act3 bio
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